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Xl 2,369,902
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Al 2,668,666
IR RSN DI R = 4,107,023 3,994,279 112,744
= 587,100
Xl 2,369,902
& 377,767
Al 772,254
AMSIHAHZTE 4 4,107,023 3,994,279 112,744
= 587,100
Xl 2,369,902
o= 377,767
Al 772,254
0sJ1g &4 50,000 30,000 20,000
Xl 25,000
o= 7,500
Al 17,500
307 2I2t0| ™ 50,000 30,000 20,000
Xl 25,000
= 7,500
Al 17,500
02 QIZHEAAIE E X 50,000 30,000 20,000
O0SJ1Y XNE(MFR,MXA,0bl) 50,000
Xl 25,000
& 7,500
Al 17,500
02218 DE=SAFY 50,000 20,000 30,000
= 25,000
Al 25,000
307 2iz2to| A 50,000 20,000 30,000
= 25,000
Al 25,000
02 QIZ2IAAAIE E X 50,000 20,000 30,000
O0ISJIYDEs ALY 50,000
= 25,000
Al 25,000
AT EHSAIY (AR E DY) 2,653,488 2,643,512 9,976
Xl 1,990,116
&< 199,012
Al 464,360
307 QI2t0| ™ 2,653,488 2,643,512 9,976
N 1,990,116
& 199,012
Al 464,360
02 AI2AtAMAIE E =X 2,653,488 2,643,512 9,976
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Xl 1,990,116
< 199,012
Al 464,360
AL OHZHI XA (AFSI E D1 ) 838,698 671,374 167,324
= 587,100
< 100,639
Al 150,959
307 21201 A 838,698 671,374 167,324
= 587,100
< 100,639
Al 150,959
02 HAFAASFEE 838,698 671,374 167,324
OMIIEEE & AHIEH S AMAHIIE=SH
(At HE ) 838,698
= 587,100
= 100,639
Al 150,959
AN EEE XS (AEIEI1L) 506,837 541,393 A 34,556
Xl 354,786
< 45,616
Al 106,435
307 21201 A 506,837 541,393 A 34,556
Xl 354,786
< 45,616
Al 106,435
02 HAFAAHEX 506,837 541,393 A 34,556
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< 45,616
Al 106,435
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201 L2l 2,000 2,000 0
03 &Ar2 I 2,000 2,000 0
OAMAXEN ZZ2EL00 29 2,000
301 e A3 6,000 6,000 0
09 EAEHIE &S 5,000 5,000 0
OFE NMEHZ, MAEIM Z22 &4 2
o 5,000
OXE MEHZX AH 24 5,000
MIIEEd=S 1,000 1,000 0
O&dYE MIEHZ 228 A& 1,000
MBI EHBH |4 6,466,719 6,099,655 367,064
= 5,624,416
< 220,386
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Al 19,186
11T MISXASEX 27,408 26,702 706
OXE AL & O X Abedl 22l AL 27,408
< 8,222
Al 19,186
NAX2HEH SAA SE=E 34,200 36,720 A 2,520
< 10,260
Al 23,940
307 21201 A 34,200 36,720 A 2,520
< 10,260
Al 23,940
11T AR SXAIEE = 34,200 36,720 A 2,520
OXNSTEHEH SAL SEE€=E 34,200
= 10,260
Al 23,940
NEZE2AS (RNSREHAH 228 XF) 573,702 696, 743 A 123,041
= 392,352
Al 181,350
307 glz2tol & 573,702 696, 743 A 123,041
= 392,352
Al 181,350
05 RIZHRI & 3 573,702 696, 743 A 123,041
OXETtadH 29 X 573,702
= 392,352
Al 181,350
NE22AIS (NS REHH At 2229) 54,817 53,403 1,414
= 38,372
Al 16,445
307 glz2+ol & 54,817 53,403 1,414
= 38,372
Al 16,445
05 RIZtE = 54,817 53,403 1,414
ONE2Z2 XNGXEME L ZATEHMEHSH(
Al el 29) 54,817
= 38,372
Al 16,445
AZIEXAL 2XHE XA 3,600 2,860 740
307 glz2tol & 3,600 2,860 740
11T M 2XASE EX 3,600 2,860 740
OMISXAE MEISXA AHBS LKA S
HE K& 150,000& »24H 3,600
2EsYJA=+SMHAESS A (YIS EF) 343,245 571,711 A 228,466
= 309, 186
Al 34,059
307 glz2tol & 343,245 0 343,245
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= 103,056
Al 11,290
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Al 11,290
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Al 27,463
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OFUES U SEH 266,073
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Al 27,463
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308 XX SHHSOIH 15,000 15,000 0
07 NIXSHH2AREESS 2 15,000 15,000 0
OXZ AL HAHAE A 15,000
MIEBAHHEESXNIJLAMH 24 583,000 600,000 A 17,000
307 2iz2to| A 583,000 600,000 A 17,000
05 QIZ2tR EF 2 583,000 600,000 A 17,000
OAZ HAMEE X =2 583,000
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X ZH
S =

el

Ar2l & 3 M A2 o

DY 2I AU (A ZE M2 D)

0121 2 &bl (AHS] M H RIKI 2 D)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HY2AZH (A3 A A A2 ) 285,495 280,597 4,898
A2 (AS =AM Xl & 1) 222,395 225,225 A 2,830
ol 2AY| (AFSI A M A ) 222,395 225,225 A 2,830
101 1A Hl 222,395 225,225 A 2,830
01 2= 222,395 225,225 A 2,830
OAZAZRSE 222,395
6= 11,0743 x13H «50Al 2+ x 122 86,378
/= 10,0033 x16H «50A| 2t 123 96,029
@3 8,980 «4H «50Al 2t 123 21,552
09= 8, 1173 «3H «50Al 2tx 1228 14,611
(DS Fals] 218,568,600& *1.75% 3,825
Jl2ZH (Absl ®Z HXI 21t 63,100 55,372 7,728
Jl2Zl (M HZ M X&) 63,100 55,372 7,728
201 LBH2EH| 28,600 20,872 7,728
01 At 2t 2l 28,600 20,872 7,728
OBt~ 15,000
O= &l 12,600
ozdg=+¢ 1,000
202 oddl 28,200 28,200 0
01 = LH o4 1l 28,200 28,200 0
OJleg =80l 28,200
203 YR =& 6,300 6,300 0
01 JI122E 2= 3,300 3,300 0
OMIZHINMAAHE 3,300
04 FN2ELRZ=TH| 3,000 3,000 0
PFA2EHRFAHI 250,000 1228 3,000




